RD Sharma Solutions Class 12 Ch 4 - Inverse Trigonometric Functions

Exercise 4.4

Q1

Find the principal value of Sac! {—ﬁ}

Solution

We know that, for ¥ = 2, sec™'x represents an anale in [0, v]— {g}

sec™! [-f) = an zngle in [0,r]- -};} whose secant |s (-«ff}

Q2
Find the principal value of sec™ (2)
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Solution

We know that, for any » = & sec™' & represents an analen [b. rr]--{-’-:-}

sect (2) = An angle s [Br]- {;} whose secant 5,2
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Q3

Find the principal value of each of the following:

4 3x
sec [2 sin E]

Solution
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sec'l[';‘s;n%) =sect [21- [%]J = sect (\fé)

Wa know that for any » eR-(-1, 1), sec) x represents an angle in [D, x]—{;} whose secant 15
=

sect (\lf) =7';

Principle value of sec? [23”1%:) 5 i
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Find the principal value of each of the following:

sect [2 tan EJ 2 4
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We know that for ary x eR-[-1, 1), sec™ x represefts @mandle :?{@i}{ 5} whiose secant is .
» :

{i =\ 2 So >
sect (-2)== AR
3 \$o
0. 0\ ;
3% o ./" v
Principle valueof sect [2':31%] is N8
= ~0 0"
o3
8§ v
Q5 » Y

V.,
#n, Yo/
N\
N

AN
For the princrpal values. svahate m"[ﬁl:&;ﬁ? -1)
e "

s

Solution
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Find the principal value of each of the following:

-1 _ﬁ _ -1 L
sin [T] Jred [Etanﬁj

Solution

s:n“[-?-]~2sec”(2tan§]-sm"[ ﬁ]-és"v {UEJ sifv ["’g] =ased [55]

,= | whose secantis x.

M=
2

We know that for any x e[-1, 1] sin™ x represents an anate in [—

sint [-g] .4

Ml =

3

We know that for any x eR-[-1, 1), sec™ x represents an angle uﬁ}[@,_ﬂ%}, whaose secant |s x
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Find the domain of 5%
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sec’! (3x-1) H
R
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Solution Pl

Demain of sec™s lies i the interval (<5 -1Ju[1, @),
Damain of sec™(3x- Lliesin the interva (-e -1]u[L, )

= -w0<3-1<-| and 1<3x-1<e

=-ws3xs0 and 2SI S

=-m< <0 and %s X<
5
Domain of sec™x lies in the interval (o, D]u.- [%' po].

Q8

Find the domain of

sec’! x - 1an'x
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Solution

Domain of sectx lies inthe Interval (-, -1]w 1, @),

Daman of tan e lles (SR

Dobriain of secTx - rar'l'l:flfx" . 4;' is

[-em '._-|u;l_ e,
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